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BWoE B B FEW HHE (B) EE(N)-(B) i &
REEENA 76,142,595 76,398,756 256,161
I |2 Bl] BB 24 A 1,000 585 415
| 5 [EOMOFA 653,000 664,900 A11,900
% FERBINAG Q) 76,796,595 77,064,241 A267,646|
g (AMFERXH 65,603,738 64,632,269 971,469
| [EEERX 6,136,160 5,869,090 267,070
% X|EEET 4,164,696 4,032,264 132,432
I | | FHARE S H 100,001 95,755 4,246
x| |FofoIH 600,000 611,900 A11,900
FEEHZIHE @) 76,604,595 75,241,278 1,363,317
EREFHESIGER Q)=(1D-@) 192,000 1,822,963 1,630,963
H | 1x
%
R HREHEUAG @) 0 0 0
L & RIFELEAETLEEXH 7,596,120 7,596,080 40
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A
g MRS HE (6) 7,596,120 7,596,080 40
X R BEHEEENIEZR 6)=1)-5) A7,596,120 7,596,080 A40
7 |y BB EERURILA 8,370,000 8,370,000 0
7))
% A Z DMDOEBINAG (D 8,370,000 8,370,000 0
= (RUEEEEEASTERR 965,880 965,920 240
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*
jrd F OMOIEEN T HET (8) 965,880 965,920 A40
X ZOMOIEBE ST ERE (9=(1)-(8) 7,404,120 7,404,080 40
FiEEXH 10) 0 _ 0
A0
YHIE SN EBSE (11)=(3)+(6)+(9)-(10) 0 1,630,963 A\1,630,963
RIRZINEEER (12) 0 8,972,587 8,972,587
\ﬁ%ﬁﬂeiﬂxﬁﬁﬁ%} (11)+(12) 0 10,603,550 10,603,550



